

Exp Simplify

$$\textcircled{1} (-2xy^2)(5yx^3)(3x^2y^2)$$

$$= (-2 \cdot 5 \cdot 3) \cdot (x^1 \cdot x^3 \cdot x^2) (y^2 \cdot y^1 \cdot y^2)$$

like terms

$$= (-30)(x^6)(y^5) = -30x^6y^5$$

$$\textcircled{2} (18m^3n) \div (3m^4n^4)$$

$$\frac{18m^3n}{3m^4n^4} = 6m^{3-1}n^{1-4} = 6m^2n^{-3}$$

$$= \frac{6m^2}{n^3}$$

$$\textcircled{3} 5x^2 - [3x - (7x^2 - 4x)]$$

$$5x^2 - [3x - 7x^2 + 4x]$$

$$5x^2 - 3x + 7x^2 - 4x$$

$$12x^2 - 7x$$

like terms
 $-3x, -4x$
 $5x^2, 7x^2$

$$12x^2 - 7x$$

$$(4) \quad (3x - 2) - 5x - 3(2x + 1) - 1$$

$$\begin{array}{ccccccc} 3x & -2 & -5x & -6x & -3 & -1 \\ \swarrow & \searrow & \swarrow & \swarrow & \swarrow & \swarrow \\ & & -8x & -6 & & \end{array}$$

Exp (Distributive Law) قانون التوزيع
Simplify

$$(1) \quad -3x^2(4 - x^3) = (-3x^2)(4) + (-3x^2)(-x^3) \\ = -12x^2 + 3x^5$$

$$(2) \quad bx^3(3x^2 + ax - ab)$$

$$(bx^3)(3x^2) + (bx^3)(ax) + (bx^3)(-ab)$$

$$3bx^5 + abx^4 - a^2bx^3$$

$$x \cdot x = x^2$$

$$= 2x$$

$$x + x = 2x$$

$$x + x = x[1 + 1] = 2x$$

$$x^1 \cdot x^1 = x^{1+1} = x^2$$

$$x^2 \cdot x^8 = x^{10}$$

$$\textcircled{3} \quad -3(7 - x^5) = (-3)(7) + (-3)(-x^5) \\ = -21 + 3x^5$$

$$\begin{aligned} \textcircled{4} \quad (2x - 1)(5 - 3x) &= (2x)(5) + (2x)(-3x) \\ &\quad + (-1)(5) + (-1)(-3x) \\ &= 10x - 6x^2 - 5 + 3x \\ &= 13x - 6x^2 - 5 \end{aligned}$$

$$(a+b)(c+d) = (a)(c) + (a)(d) + (b)(c) + (b)(d)$$

$$-3x$$

$$\begin{aligned} &5 - 4x \\ &-5 + 4x \end{aligned}$$

Exp (Product of two Poly's)

Simplify

$$\textcircled{1} \quad (2x^2 - 1)(7 - x) = (2x^2)(7) + (2x^2)(-x) + (-1)(7) + (-1)(-x)$$

$$= 14x^2 - 2x^3 - 7 + x$$

$$\textcircled{2} \quad (x^4 - 3x)(5 - 2x^3 + 4x^4) = (x^4)(5) + (x^4)(-2x^3) + (x^4)(4x^4) + (-3x)(5) + (-3x)(-2x^3) + (-3x)(4x^4)$$

$$= 5x^4 - 2x^7 + 4x^8 - 15x + 6x^4 - 12x^5$$

$$= 11x^4 - 2x^7 + 4x^8 - 15x - 12x^5$$

Binomial squared

$$(a+b)^2 = a^2 + 2ab + b^2$$

$\downarrow \quad \downarrow \quad \downarrow$
 $(a^2) + 2(a)(b) + (b^2)$

$$(a+b)^2 = (a+b)(a+b) = (a)(a) + (a)(b) + (b)(a) + (b)(b) \\ = a^2 + ab + ba + b^2 \\ = a^2 + 2ab + b^2$$

Exp ① $(x+3)^2 = (x)^2 + 2(x)(3) + (3)^2 \\ = x^2 + 6x + 9$

② $(2x-4)^2 = (2x)^2 + 2(2x)(-4) + (-4)^2 \\ = 4x^2 - 16x + 16$

③ $(-3x+4y)^2 = (-3x)^2 + 2(-3x)(4y) + (4y)^2 \\ = 9x^2 - 24xy + 16y^2$

④ $(4x^2 - \frac{1}{2})^2 = (4x^2)^2 + 2(4x^2)(-\frac{1}{2}) + (-\frac{1}{2})^2 \\ = 16x^4 - 4x^2 + \frac{1}{4}$

فرق
مربعين $x^2 - a^2 = (x-a)(x+a)$

دور
مربعين

$$\{x\} - \{a\} = (x - a)(x + a)$$

Ex 1 $x^2 - 16 = (x - 4)(x + 4)$

$\downarrow$
 4^2

سواء $\rightarrow$

$(x)(x) + (-4)(x) + (-4)(4)$

$x^2 + 4x - 4x - 16$

$x^2 - 16$

(2) $y^2 - 6 = (y - \sqrt{6})(y + \sqrt{6})$

$\downarrow$
 $(\sqrt{6})^2$

(3) $1 - z^2 = (1 - z)(1 + z)$

$\downarrow$ $\downarrow$
 1^2 z^2

(4) $x^2 - 3 = (x - \sqrt{3})(x + \sqrt{3})$

$\downarrow$

$\sqrt{3} \sqrt{3}$

$\sqrt{3 \cdot 3} = \sqrt{9} = 3$